B2 b AR ST EF AP A AR

Zprmp] 4120 TE TRENSE AELHLE

R
5—R #-R

EEFAR:
1. At.gihﬂg%—}hﬁa s @E/}]\—,*% 100 - -
2. AR AM « TAMBIAE » Kb -

SLEHELENBALLRAZLEEMNAEE  FRARTHE -

~ 3F# POP3(Post Office Protocol - Version 3)# SSL(Secure Sockets

Layer)ty £ & ° (A 10%)

~ HWH iPad #HE o (KA 10%)
%A Windows 7 #45E o (AA 10%)

v b B 3 B (Data Cube)si T A & # (Table)gh £ % - (A4

10%)

 ERAAT ST MA G o (R 10%)
X~ B (1010), + (10EF)s = (X)s * 350 X =2(A& 10%)

C BEBMA-—ELA"RLETH AL RS TS4uE T

B TARM ZEBME-FHHA SQL BEEH B EXRKLE

—ERERYFHRERE D - (A8 10%)

AN

U~

+ -

AT LT 45 Basic 2 X4 R R 38 09 TR AT? (A& 10%)

S=0
P=1
For K=1 to 6
S=S+P*K
=-P+1
Next K
Print S
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S=0

P=1

FORK=1To4
P=_(1)
S=S+P* _(2)

NEXT K

PRINT S
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Sub Han(n As Integer, p as integer, q as integer)
If n > 1 Then Han(n - 1, p, 6-p-q)
Print “Move Disk “; n; “ from “; p; “ to “; q
If n > 1 Then Han(n - 1, 6-p-q, q)

End Sub





